[image: image1.jpg]1. Brifly explain the meaning of R, s, and Fas? A time scris analyss o demand tends
0 result 0  higher R than one using cross-sectional data. Why do you think this isthe
case? Explain why the F-est i more important in multple regressions than simple
regression analysis.

2. The directorof marketing at Vangusrd Corporaion believes that sles of the company’s
Bright Side laundry detrgent () ar related to Vanguard's own advertising expenditure
(A) s well as the combined advertsing expenditures of s three biggestrival detergents
(R). The marketing directorcollcts 36 weekly observations on S, A, R 0 estmae the
following mlipe regrssion equation:

S=atbA+eR
Where S, A, and R are measuredin dollars per week.

A. Whatsign does the marketing director expect a, b, and ¢ 0 have?

B Interprt the coeffcients , b, and c.

“The regression output from the computeris as follows:

DEPENDENT VARIABLE:'S  R-SQUARE  F-RATIO P-VALUEONF
OBSERVATIONS:36 02247 4781 00150
PARAMETER  STANDARD
VARIABLE ESTIMATE ERROR  TRATIO P-VALUE
INTERCEPT 170860 GRl0 27 0.0098
A 08550 0350 26 00128
i3 0284 0164 EE 00927
. Doss Vanguard's adverising expenditure have  saistially signfican ffecton the sles of

Bright Side deergent? Explain, using the approprise pval.

. Docs advertising b it thre largest rival affect sles of Bright Sde detergent in a stistically
significant way? Explain, uingtheapproprise pvale.

E. What fraction ofthe oa vristion n saesof Bright e rmains unexplained? Wit can he
markeing dirctor do o inrease the explnatory power of the sl cquation? What cber

explanaory variables mightbe dded  this equation?

What s th expeced eve of salescach weck when Vanguard spends $40,000pe weck and the

combined adverising expendiure forthe hre rivalsar $100000 per week?





